



Article Fixed Point Results of Expansive Mappings in Metric Spaces

Seher Sultan Yeşilkaya ^{1,*} and Cafer Aydın ²

- ¹ Institute of Science and Technology, Kahramanmaraş Sütçü İmam University, Kahramanmaraş 46040, Turkey
- ² Department of Mathematics, Kahramanmaraş Sütçü İmam University, Kahramanmaraş 46040, Turkey; caydin@ksu.edu.tr or caydin61@gmail.com
- * Correspondence: 16320594825@ogr.ksu.edu.tr or sultanseher20@gmail.com

Received: 21 July 2020; Accepted: 15 October 2020; Published: 16 October 2020



Abstract: In this study, we introduce the concept of θ -expansive mapping in ordered metric spaces and prove a fixed point theorem for such mappings. We give some fixed point results for θ -expansive mapping in metric spaces and prove fixed point theorems for such mappings. These results extend the main results of many comparable results from the current literature. We also obtain a common fixed point theorem of two weakly compatible mappings in metric spaces. Finally, the examples are presented to support the new theorems and results proved.

Keywords: metric spaces; weakly compatible; ordered metric spaces; θ -expansive mapping

MSC: 47H10; 54H25

1. Introduction

The study of expansive mappings is a very interesting research area in the fixed point theory. Wang et al. [1] proved some fixed point theorems for expansion mappings, which correspond to some contractive mappings in metric spaces. Rhoades [2] and Taniguchi [3] generalized the results of Wang for pair of mappings. Thereafter, several authors obtained many fixed point theorems for expansive mappings. For more details see [4–8]. Sessa [9] defined weak commutativity and proved a common fixed point theorem for weakly commuting maps. Further, Jungck [10] introduced the concept of weakly compatible maps by giving the notion of compatibility.

Definition 1 ([9]). Let A and B be self mappings of a set Y. A point $y \in Y$ is called a coincidence point of A and B iff Ay = By. In this case, s = Ay = By is called a point of coincidence of A and B.

Definition 2 ([10]). Two self mappings A and B of a metric space (Y, d) are said to be weakly compatible iff there is a point $y \in Y$ which is a coincidence point of A and B at which A and B commute; that is, ABy = BAy.

Theorem 1 ([1]). Let (Y, d) be a complete metric space and A a self mapping on Y. If A is surjective and satisfies

$$d(Ax, Az) \ge qd(x, z) \tag{1}$$

for all $x, z \in Y$, with q > 1 then A has a unique fixed point in Y.

Ran and Reurings [11] proved a fixed point theorem on a partially ordered metric space as follow:

Theorem 2 ([11]). Let (Y, \leq) be an ordered set and d be a metric on Y such that (Y, d) is a complete metric space. Let $A : Y \to Y$ be a nondecreasing mapping such that there exists $x_0 \in Y$ with $x_0 \leq Ax_0$. Suppose that there exists $L \in [0, 1)$ such that

$$d(Ax, Ay) \leq Ld(x, y) \quad \forall x, y \in Y \text{ with } x \leq y.$$

If A is continuous then has a fixed point in Y.

Then several authors considered the problem of the existence of a fixed point for contraction type operators on partially ordered sets. Some of these works may be noted in [12–16].

Lately, Jleli and Samet [17] introduced a new type of contractions called θ -contraction. They denote by Θ the set of functions $\theta : (0, \infty) \rightarrow (1, \infty)$ satisfying the following conditions:

 $(\Theta_1) \theta$ is non-decreasing;

(Θ_2) for each sequence $\{t_n\} \subset (0, \infty)$, $\lim_{n \to \infty} \theta(t_n) = 1$ if and only if $\lim_{n \to \infty} t_n = 0^+$; (Θ_3) there exist $r \in (0, 1)$ and $l \in (0, \infty]$ such that $\lim_{t \to 0^+} \frac{\theta(t) - 1}{t^r} = l$.

Lemma 1 ([7]). Let (Y, d) be a metric spaces and $A : Y \to Y$ a surjective mapping. Then, A has a right inverse mapping i.e., a mapping $A^* : Y \to Y$, such that $A \circ A^* = I_A$.

Let (Y, \leq) be an ordered set and *d* be a metric on *Y*. Then we say that the tripled (Y, \leq, d) is an ordered metric space. We will say that *Y* is regular, if the ordered metric spaces (Y, \leq, d) provides the following condition:

If $\{x_n\} \subseteq Y$ is an increasing sequence with $x_n \to a \in Y$, then $x_n \leq a$ for all $n \in \mathbb{N}$.

In Section 1, some basic definitions, lemma, and theorems in the literature that will be used later in the paper are given. In Section 2, following by Wang et al. [1], Jungck [10], Sessa [9], Jleli and Samet [17], we introduce a new approach to expansion mappings in fixed point theory and establish some fixed point theorems. We show illustrative examples where the theorems are applicable. In Section 3, we give conclusions.

2. Main Results

In this section, we introduce a fixed point theorem for θ -expansive mapping on ordered metric spaces. Then, we give some fixed point results for θ -expansive mappings in metric spaces. We also obtain a common fixed point theorem of two weakly compatible mappings in metric spaces. First, let us start with the definition of θ -expansive mappings on ordered metric spaces.

Definition 3. Let (Y, \leq, d) be an ordered metric space. A mapping $A : Y \rightarrow Y$ is said to be surjective θ -expansive if there exists $\theta \in \Theta$ and $\eta > 1$ such that

$$\theta(d(Ax, Az)) \ge [\theta(d(x, z))]^{\eta}, \tag{2}$$

for all $(x, z) \in M$, where

$$M = \{ (x, z) \in Y \times Y : x \le z, \ d(Ax, Az) > 0 \}.$$
(3)

Theorem 3. Let (Y, \le, d) be an ordered complete metric space, $A : Y \to Y$ a surjective θ -expansive mapping and A^* a right inverse of A such that A^* is \le increasing. Suppose that there exists $x_0 \in Y$ such that $x_0 \le A^*x_0$. If A is continuous or Y is regular, then A has a fixed point.

Proof. Let x_0 be an arbitrary point in *Y*. Since *A* is surjective, there exists $x_1 \in Y$ such that $x_0 = Ax_1$. In general, having chosen $x_n \in Y$, we choose $x_{n+1} \in Y$ such that $x_n = Ax_{n+1}$ for all n = 0, 1, 2, ... If there

exists $n \in \mathbb{N}$ such that $x_n = x_{n+1}$, then x_{n+1} is a fixed point of A. Now assume that $x_n \neq x_{n+1}$ for all $n \in \mathbb{N}$. Since $x_0 \leq A^* x_0$ and A^* is \leq increasing, we obtain

$$x_0 \leq x_1 \leq x_3 \leq \cdots \leq x_n \leq \ldots$$

Now since $x_{n-1} \leq x_n$ and $d(x_{n-1}, x_n) > 0$ for all $n \in \mathbb{N}$, then $(x_{n-1}, x_n) \in M$ and so, from (2) we obtain

$$\theta(d(x_{n-1}, x_n)) = \theta(d(Ax_n, Ax_{n+1})) \ge [\theta(d(x_n, x_{n+1}))]^{\eta}$$
(4)

for all $n \in \mathbb{N}$. Letting $n \to \infty$ in (4), we get

$$\theta(d(x_{n-1}, x_n)) \ge [\theta(d(x_n, x_{n+1}))]^{\eta}.$$
(5)

Let $s = \frac{1}{\eta}$. Since $\eta > 1$, we obtain s < 1. Therefore since $x_{n-2} \le x_{n-1}$ and $d(x_{n-2}, x_{n-1}) > 0$ for all $n \in \mathbb{N}$, we have

$$\theta(d(x_n, x_{n+1})) \leq [\theta(d(x_{n-1}, x_n))]^s$$

$$\leq [\theta(d(x_{n-2}, x_{n-1}))]^{s^2}$$

$$\vdots$$

$$\leq [\theta(d(x_0, x_1))]^{s^n}.$$
(6)

Letting $n \to \infty$ in the above inequality, we obtain

$$\lim_{n \to \infty} \theta(d(x_n, x_{n+1})) = 1, \tag{7}$$

which implies from (Θ_2) that

$$\lim_{n\to\infty}d(x_n,x_{n+1})=0^+.$$

Let

$$k_n = d(x_n, x_{n+1}).$$

From condition (Θ_3), there exists $c \in (0, 1)$ and $G \in (0, \infty]$ such that

$$\lim_{n \to \infty} \frac{\theta(k_n) - 1}{(k_n)^c} = G.$$
(8)

Suppose that $G < \infty$. In this case, let $J = \frac{G}{2} > 0$. From the definition of the limit, there exists $n_0 \in \mathbb{N}$ such that

$$\left|\frac{\theta(k_n)-1}{(k_n)^c}-G\right| \leq J, \text{ for all } n \geq n_0.$$

This implies that

$$\frac{\theta(k_n)-1}{(k_n)^c} \ge G - J = J, \text{ for all } n \ge n_0.$$

Then for all $n \ge n_0$, we obtain

$$n(k_n)^c \leq Hn[\theta(k_n) - 1],$$

where $H = \frac{1}{J}$. Now assume that $G = \infty$. Let J > 0 be an arbitrary positive number. From the definition of the limit, there exists $n_0 \in \mathbb{N}$ such that

$$\frac{\theta(k_n)-1}{(k_n)^c} \ge J,$$

for all $n \ge n_0$. This implies that for all $n \ge n_0$,

$$n(k_n)^c \leq Hn[\theta(k_n) - 1],$$

where $H = \frac{1}{I}$. Therefore, in all cases, there exists H > 0 and $n_0 \in \mathbb{N}$ such that, for all $n \ge n_0$,

$$n(k_n)^c \leq Hn[\theta(k_n) - 1].$$

Using (6), we have

$$n(k_n)^c \leqslant Hn(\left[\theta(k_0)\right]^{s^n} - 1),\tag{9}$$

for all $n \ge n_0$. Letting $n \to \infty$ in (9), we obtain

$$\lim_{n\to\infty}n(k_n)^c=0.$$

Therefore, there exists $n_1 \in \mathbb{N}$ such that

$$k_n \leq \frac{1}{n^{\frac{1}{c}}}, \text{ for all } n \geq n_1.$$
 (10)

In order to show that $\{x_n\}$ is a Cauchy sequence consider $n, m \in \mathbb{N}$ such that $m > n \ge n_1$. Using the triangular inequality for the metric and from (10), we have

$$d(x_n, x_m) \leq d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + \dots + d(x_{m-1}, x_m)$$

$$\leq k_n + k_{n+1} + \dots + k_{m-1}$$

$$\leq \sum_{i=n}^{m-1} \frac{1}{i^{\frac{1}{c}}} \leq \sum_{i=n}^{\infty} \frac{1}{i^{\frac{1}{c}}}.$$

By the convergence of the series $\sum_{i=n}^{\infty} \frac{1}{i^{\frac{1}{c}}}$, in the limit $n \to \infty$, we get $d(x_n, x_m) \to 0$. This yields that $\{x_n\}$ is a Cauchy sequence in (Y, d). Since (Y, d) is a complete metric space, the sequence $\{x_n\}$ converges to some point $a \in Y$, that is,

$$\lim_{n \to \infty} x_n = a. \tag{11}$$

Now we shall show that *a* is a fixed point of *A*. If *A* is continuous, then we have

$$a = \lim_{n \to \infty} x_n = A(\lim_{n \to \infty} x_{n+1}) = Aa.$$

Therefore a = Aa, that is, *a* is a fixed point of *A*. Now we suppose that *Y* is regular, then $x_n \leq a$ for all $n \in \mathbb{N}$. We consider the following two cases:

Case 1. If there exists $b \in \mathbb{N}$ for which $x_b = a$, then, we obtain

$$A^*a = A^*x_b = x_{b+1} \le a.$$

We also get

$$a = x_b \le x_{b+1} = A^* x_b = A^* a$$

then we obtain, $a = A^*a$.

Case 2. Suppose that $x_n \neq a$ for every $n \in \mathbb{N}$ and $d(a, A^*a) > 0$. Therefore, from (2) we obtain

 $\theta(d(x_{n}, a)) = \theta(d(Ax_{n+1}, AA^*a)) \ge [\theta(d(x_{n+1}, A^*a))]^{\eta} \ge \theta(d(x_{n+1}, A^*a)),$

which yields

$$d(x_n, a) > d(x_{n+1}, A^*a).$$

Taking limit as $n \to \infty$, we obtain that

$$d(a, A^*a) < d(a, a),$$

a contradiction. Thus, conclude that $d(a, A^*a) = 0$, that is, $a = A^*a$. Therefore, we obtain $Aa = A(A^*a) = a$. This concludes the proof. \Box

Remark 1. In Theorem 3, if every pair of elements has a lower bound and upper bound, then the fixed point of A is unique. To see this, it is sufficient to show that for every $x \in Y$, $\lim_{n\to\infty} A^n x = a$ where a is the fixed point of A such that $\lim_{n\to\infty} A^n x_0 = a$. Let $x_0 \in Y$. So, here two cases arise.

Case 1. If $x \le x_0$ or $x_0 \le x$, then $A^n x \le A^n x_0$ or $A^n x_0 \le A^n x$ for all $n \in \mathbb{N}$. If $A^{n_0} x = A^{n_0} x_0$ for some $n_0 \in \mathbb{N}$ then, $A^n x \to a$. Afterwards, let $A^n x \ne A^n x_0$ for all $n \in \mathbb{N}$ then, $d(A^n x, A^n x_0) > 0$ and so $(A^n x, A^n x_0) \in M$ for all $n \in \mathbb{N}$. Accordingly, from (2), we obtain

$$\theta(d(A^n x, A^n x_0)) \ge [\theta(d(A^{n+1} x, A^{n+1} x_0))]^{\eta}.$$
(12)

Let $s = \frac{1}{\eta}$. *Since* $\eta > 1$, we obtain s < 1. *Subsequently, we have*

$$\theta(d(A^n x, A^n x_0)) \le [\theta(d(x, x_0))]^{s^n}.$$
(13)

Letting $n \rightarrow \infty$ *in* (13) *we obtain*

$$\lim_{n \to \infty} \theta(d(A^n x, A^n x_0)) = 1.$$
(14)

Taking into account (Θ_2), we have $\lim_{n\to\infty} d(A^n x, A^n x_0) = 0^+$. Thus we obtain $\lim_{n\to\infty} A^n x = \lim_{n\to\infty} A^n x_0 = a$.

Case 2. If $x \leq x_0$ or $x_0 \leq x$, then, from every pair of elements has a lower bound and upper bound that there exists $x_1, x_2 \in Y$ such that $x_2 \leq x \leq x_1$ and $x_2 \leq x_0 \leq x_1$. Thus, as in the case 1 we show that

$$\lim_{n \to \infty} A^n x_1 = \lim_{n \to \infty} A^n x_2 = \lim_{n \to \infty} A^n x = \lim_{n \to \infty} A^n x_0 = a.$$

Example 1. Let $Y = \{x_r = \frac{1}{r+1}, r \in \mathbb{N}\} \cup \{0\}$ be endowed with the usual metric *d*. Define an order relation \leq on Y as

$$x \leq z \Leftrightarrow [x = z \text{ or } x \leq z \text{ with } x, z \in Y],$$

where \leq is usual order. Clearly, (Y, \leq, d) be an ordered complete metric spaces. Define a mapping $A: Y \to Y$ by

$$Ax = \begin{cases} \frac{1}{r}, & x = x_r \\ 0, & x = 0. \end{cases}$$

Then, A^* *is* \leq *increasing. We claim that* A *is a* θ *-expanding mapping with* $\theta(p) = e^{pe^p}$ *and* $\eta = \frac{3}{2} > 1$. *To see this, we have to show that* A *satisfies the condition (2). Then we obtain*

$$e^{d(Ax,Az)e^{d(Ax,Az)}} \ge e^{\eta d(x,z)e^{d(x,z)}}$$

for $\eta = \frac{3}{2}$. Let $x = x_r$, $z = x_{r+1}$. So, we obtain

$$\frac{d(Ax, Az)}{d(x, z)} e^{d(Ax, Az) - d(x, z)} = \frac{r+2}{r} e^{\frac{2}{r(r+1)(r+2)}} \ge \eta.$$

Thus, Theorem 3 is satisfied with $\eta = \frac{3}{2} > 1$ *. Therefore, implies that A has a unique fixed point. On the other hand, it is not an expansive mapping in metric spaces. To see this, we obtain*

$$\lim_{r \to \infty} \frac{d(Ax, Az)}{d(x, z)} = \lim_{r \to \infty} \frac{r+2}{r} = 1$$

Then

$$d(Ax, Az) \ge qd(x, z) \tag{15}$$

does not hold for q > 1. Hence the condition of Theorem 1 is not satisfied. This example shows that the new class of θ -expanding mapping is not included in expanding mapping known in literature.

Example 2. Let $Y = (0, \infty)$ be endowed with the usual metric d. Define a mapping $A : Y \to Y$ by

$$Ax = \begin{cases} \frac{x}{2}, \ 0 < x \le 1\\ 2x - \frac{3}{2}, \ 1 \le x < \infty. \end{cases}$$

Then, A is a surjective and having a right inverse A given by*

$$A^*x = \begin{cases} 2x, \ 0 < x \leq \frac{1}{2} \\ \frac{x}{2} + \frac{3}{4}, \ \frac{1}{2} \leq x < \infty. \end{cases}$$

Define an order relation \leq on Y as $x \leq z$ if and only if either x = z or $1 \leq x \leq z$ with $x, z \in \mathbb{Q}$, where \leq is usual order. Clearly, (Y, \leq, d) is an ordered complete metric space. Then, A^* is \leq increasing. A is a θ -expanding mapping with $\theta(p) = e^p$ and $\eta = \frac{3}{2}$. Thus, the hypotheses of Theorem 3 is satisfied and A has a fixed point (namely $x = \frac{3}{2}$).

Now, we give some fixed point results for θ -expansive mapping in metric spaces and prove fixed point theorems for such mappings. Using the same argument as in the proof of the Theorem 3, we prove the following result.

Corollary 1. Let (Y, d) be a complete metric space and $A : Y \to Y$ a continuous surjective θ -expansive mapping. If there exists a constant $\eta > 1$ such that

$$\theta(d(Ax, Az)) \ge [\theta(d(x, z))]^{\eta}$$
(16)

for all $x, z \in Y$, then A has a unique fixed point in Y.

Note that Θ contains a large class of functions. For example, if we take

$$\theta(w) = 2 - \frac{2}{\pi} \arctan\left(\frac{1}{w^{\lambda}}\right),$$

where $\lambda \in (0, 1)$, w > 0 and from Corollary 1 we obtain the following result.

Corollary 2. *Let* (Y, d) *be a complete metric space and A be a self mapping on* Y. *If there exists* $\lambda \in (0, 1)$ *and a constant* $\eta > 1$ *such that*

$$2 - \frac{2}{\pi} \arctan\left(\frac{1}{d(Ax, Az)^{\lambda}}\right) \ge \left[2 - \frac{2}{\pi} \arctan\left(\frac{1}{d(x, z)^{\lambda}}\right)\right]^{\eta}$$
(17)

for all $x, z \in Y$ with $Ax \neq Az$, then A has a fixed point.

Theorem 4. Let (Y, d) be a complete metric space and $A : Y \to Y$ a continuous surjective θ -expansive mapping. *If there exists a constant* $\eta > 1$ *such that*

$$\theta(d(Ax, Az)) \ge [\theta(\min\{d(x, z), d(x, Ax), d(z, Az)\})]^{\eta}$$
(18)

for all $x, z \in Y$, then A has a fixed point.

Proof. Let x_0 be an arbitrary point in Y. Since A is surjective, there exists $x_1 \in Y$ such that $x_0 = Ax_1$. In general, having chosen $x_n \in Y$, we choose $x_{n+1} \in Y$ such that $x_n = Ax_{n+1}$ for all n = 0, 1, 2, ... If there exists $n \in \mathbb{N}$ such that $x_n = x_{n+1}$, then x_{n+1} is a fixed point of A. Now assume that $x_n \neq x_{n+1}$ for all $n \in \mathbb{N}$. Then from (18) for $x = x_n$ and $z = x_{n+1}$ we obtain

$$\theta(d(x_{n-1}, x_n)) = \theta(d(Ax_n, Ax_{n+1})) \ge [\theta(\min\{d(x_n, x_{n+1}), d(x_n, Ax_n), d(x_{n+1}, Ax_{n+1})\}))]^{\eta}, \quad (19)$$

where $\min\{d(x_n, x_{n+1}), d(x_n, Ax_n), d(x_{n+1}, Ax_{n+1})\} = \min\{d(x_n, x_{n+1}), d(x_n, x_{n-1})\}.$

Thus, here two cases arise.

Case 1. Let $\min\{d(x_n, x_{n+1}), d(x_n, x_{n-1})\} = d(x_n, x_{n-1})$. So, from (18),

$$\theta(d(x_{n-1}, x_n)) \ge [\theta(d(x_{n-1}, x_n)))]^{\eta},$$

which is a contradiction, since $\eta > 0$, so, $\min\{d(x_n, x_{n+1}), d(x_n, x_{n-1})\} = d(x_n, x_{n+1})$. Then, by using (18), we obtain

$$\theta(d(x_{n-1}, x_n)) \ge [\theta(d(x_n, x_{n+1})))]^{\eta}.$$

Let $s = \frac{1}{\eta}$. Since $\eta > 1$, we obtain s < 1. The rest of the proof can be completed as in the proof of Theorem 3. \Box

Theorem 5. Let (Y, d) be a complete metric space. Let A and B be weakly compatible self mappings of Y and $B(Y) \subseteq A(Y)$. Suppose that $\theta \in \Theta$ and there exists a constant $\eta > 1$ such that

$$\theta(d(Ax, Az)) \ge [\theta(d(Bx, Bz))]^{\eta}, \tag{20}$$

for all $x, z \in Y$. If one of the subspaces B(Y) or A(Y) is complete, then A and B have a unique common fixed point in Y.

Proof. Let x_0 be an arbitrary point in *Y*. Since $B(Y) \subseteq A(Y)$, choose $x_1 \in Y$ such that $\rho_1 = Ax_1 = Bx_0$. In general, choose x_{n+1} such that $\rho_{n+1} = Ax_{n+1} = Bx_n$. Let $s = \frac{1}{\eta}$. Since $\eta > 1$ we obtain s < 1. Then from (20) we obtain

$$\theta(d(\rho_{n+1},\rho_{n+2})) = \theta(d(Bx_n,Bx_{n+1})) \leq [\theta(d(Ax_n,Ax_{n+1}))]^s$$
$$= [\theta(d(Bx_{n-1},Bx_n))]^s$$
$$= [\theta(d(\rho_n,\rho_{n+1}))]^s.$$

Therefore, it can be seen that the (ρ_n) is Cauchy with similar operations in Theorem 3. Since $B(Y) \subseteq A(Y)$ and B(Y) or A(Y) is a complete subspace of Y then from Corollary 1, (A(Y), d) is complete and so, the sequence $\rho_n = Bx_{n-1} \subseteq A(Y)$ is converges in the metric spaces (A(Y), d), that is, there exists a w in A(Y) such that $\lim_{n\to\infty} d(\rho_n, w) = 0$.

So, we can find $k \in Y$ such that Ak = w. Accordingly, from Corollary 1, we have

$$d(Ak,w) = d(w,w) = \lim_{n \to \infty} d(\rho_n,w) = \lim_{n \to \infty} d(\rho_n,\rho_m)$$

This yields that (ρ_n) is a Cauchy sequence in the metric spaces (A(Y), d). Now, we show that Bk = w. According to (20) we obtain

$$\theta(d(Bx_{n-1}, Ak)) = \theta(d(Ax_n, Ak)) \ge [\theta(d(Bx_n, Bk))]^{\eta}$$
$$= [\theta(d(\rho_{n+1}, Bk))]^{\eta}$$

that is, we can write

$$\theta(d(w, Ak)) \ge [\theta(d(w, Bk))]^{\eta}.$$

Thus, we have $\theta(d(w, Bk)) \leq [\theta(d(w, w))]^s$ then, we obtain w = Ak = Bk. Since *A* and *B* are weakly compatible, ABk = BAk, that is, Aw = Bw.

Now, we shall show that *w* is a common fixed point of *A* and *B*. In view of (20), we obtain

$$\theta(d(Aw, Ax_n)) \ge [\theta(d(Bw, Bx_n))]^{\eta} = [\theta(d(Bw, \rho_{n+1}))]^{\eta}$$

the limit as $n \to \infty$, we obtain

$$\theta(d(Aw,w)) \ge [\theta(d(Bw,w))]^{\eta} = [\theta(d(Aw,w))]^{\eta}$$

which implies that d(Aw, w) = 0, that is, Aw = Bw = w. To prove uniqueness, suppose that $t \neq w$ is also another common fixed point of *A* and *B*, that is, At = Bt = t. Then, we obtain

$$\theta(d(t,w)) = \theta(d(At,Aw)) \ge [\theta(d(Bt,Bw))]^{\eta} = [\theta(d(t,w))]^{\eta},$$

which is a contraction. Therefore, *w* is a unique common fixed point of *A* and *B*. This complete the proof. \Box

Example 3. Let Y = [0,1] and define d(x,z) = |x - z|, for all $x, z \in Y$. (Y,d) is a complete metric space. Define $Ax = \frac{x}{4}$ and $Bx = \frac{x}{12}$, then $B(Y) \subseteq A(Y)$ and A(Y) is complete. $\theta(p) = e^p$ belong to Θ , for all $x \in [0,1]$ with $x \ge z$ from (20), we obtain

$$e^{\frac{1}{4}|x-z|} \ge e^{\frac{\eta}{12}|x-z|},$$

for $1 < \eta < 3$ and (20) is satisfied. In this example, A and B are weakly compatible mappings and 0 is the unique common fixed point. Therefore, Theorem 5 is satisfied.

Example 4. Let Y = [0,1] and define d(x,z) = |x - z|, for all $x, z \in Y$. (Y,d) is a complete metric space. Let $Ax = \frac{1-x}{2}$, $Bx = \frac{1-x}{4}$. Then $B(Y) \subseteq A(Y)$ and A(Y) is complete. $\theta(p) = e^{pe^p}$ belong to Θ , for all $x \in [0,1]$ with $x \ge z$. From (20), we obtain

$$2e^{\frac{1}{4}|x-z|} \ge \eta$$

for $1 < \eta < 2$ and (20) is satisfied. A1 = B1 = 0 but $AB1 = \frac{1}{2}$ and $BA1 = \frac{1}{4}$, then A and B are not weakly compatible. It follows that, except for the weak compatibility of A and B, all other hypotheses of Theorem 5 are satisfied. However, they do not have a common fixed point. This example shows that the weak compatible condition of Theorem 5 cannot be removed.

3. Conclusions

Wang et al. [1], proved some fixed point theorems for expansive mappings, which correspond to some contractive mappings in metric spaces. Jleli and Samet [17] introduced a new type of contractions called θ -contraction. In the present article, we introduce a new approach to expansive mappings in fixed point theory by combining the ideas of Wang, Jleli and Samet. We introduce the concept of θ -expansive mappings in ordered metric spaces and prove a fixed point theorem for such mappings. We give some fixed point results for θ -expansive mappings in metric spaces and prove fixed point theorems and results proved. Further, these examples show that the new class of θ -expansive mapping is not included in expansive mappings known in the literature.

Author Contributions: All authors contributed equally and significantly in writing this paper. All authors have read and agreed to publish the present version of the manuscript.

Funding: This research received no external funding.

Acknowledgments: The authors wish to thank the referees for their careful reading of the manuscript and valuable suggestions.

Conflicts of Interest: The authors declare no conflict of interest.

References

- 1. Wang, S.Z.; Li, B.Y.; Gao, Z.M.; Iseki, K. Some fixed point theorems on expansion mappings. *Math. Jpn.* **1984**, 29, 631–636.
- 2. Rhoades, B.E. Some fixed point theorems for pairs of mappings. Math. Jnanabha 1985, 15, 151–156.
- 3. Taniguchi, T. Common fixed point theorems on expansion type mappings on complete metric spaces. *Math. Jpn.* **1989**, *34*, 139–142.
- 4. Khan, M.A.; Khan, M.S.; Sessa, S. Some theorems on expansion mappings and their fixed points. *Demonstr. Math.* **1986**, *19*, 673–683. [CrossRef]
- 5. Daffer, P.Z.; Kaneko, H. On expansive mappings. Math. Jpn. 1992, 37, 733–735.
- 6. Huang, X.; Zhu, C.; Wen, X. Fixed point theorems for expanding mappings in partial metric spaces. *Analele Univ. Ovidius Constanta-Ser. Mat.* **2012**, *20*, 213–224. [CrossRef]
- 7. Górnicki, J. Fixed point theorems for F-expanding mappings. Fixed Point Theory Appl. 2017, 2017, 9. [CrossRef]
- 8. Gurban, R.; Alfaqih, W.M.; Imdad, M. Fixed point results for F-expansive mappings in ordered metric spaces. *Commun. Fac. Sci. Univ. Ank. Ser. A1 Math. Stat.* **2019**, *68*, 801–808.
- Sessa, S. On a weak commutativity condition of mappings in fixed point considerations. *Pub. Inst. Math.* 1982, 32, 149–153.
- 10. Jungk, G. Compatible mappings and common fixed points. *Int. J. Math. Math. Sci.* **1986**, *9*, 771–779. [CrossRef]
- 11. Ran, A.C.M.; Reurings, M.C.B. A fixed point theorem in partially ordered sets and some application to matrix equations. *Proc. Am. Math Soc.* 2004, *132*, 1435–1443. [CrossRef]
- 12. Abbas, M.; Nazır, T.; Radenovic, S. Common fixed points of four maps in partially ordered metric spaces. *Appl. Math. Lett.* **2011**, *24*, 1520–1526. [CrossRef]

- 13. Agarwal, R.P.; El-Gebeily, M.A.; O'Regan, D. Generalized contractions in partially ordered metric spaces. *Appl. Anal.* **2008**, *87*, 109–116. [CrossRef]
- 14. Kumam, P.; Rouzkard, F.; Imdad, M.; Gopal, D. Fixed point theorems on ordered metric spaces through a rational contraction. *Abstr. Appl. Anal.* **2013**, 206515. [CrossRef]
- 15. Durmaz, G.; Mınak, G.; Altun, I. Fixed points of ordered *F*-contractions. *Hacet. J. Math. Stat.* **2016**, 45, 15–21. [CrossRef]
- Mınak, G.; Altun, I. Ordered θ-contractions and some fixed point results. J. Nonlinear Funct. Anal. 2017, 2017, 41. [CrossRef]
- 17. Jleli, M.; Samet, B. A new generalization of the Banach contraction principle. *J. Inequal. Appl.* **2014**, 2014, 38. [CrossRef]

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



© 2020 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http://creativecommons.org/licenses/by/4.0/).